Solutions to BCNF Practice Problem
3.7.1 Note that it is possible to break these relations up in a number of ways that satisfy BCNF.

a) Keys: ab, db, cb 

BCNF violations:  c(da, d(a, 

Decomposition: (b,c), (c,d), (d,a)

b) Keys: ab 

BCNF violations: b(cd

Decomposition: (b,c,d), (a,b) 

c) Keys: ab, bc, cd, ad

BCNF violations: none, the left side of all dependencies are keys

d) Keys: a, b, c, d

BCNF violations: none, the left side of all dependencies are keys

e) Keys: abe

BCNF violations: ab(cd, de(c, b(d

Decomposition: (a,b,c), (b,d), (a,b,e)

f) Keys: ab, ac, ad 

BCNF violations: c(bde, d(eb

Decomposition: (a,c), (c,d), (d,b,e)

